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FORENSIC SCIENCE
PAPER - II

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All

6.

questions are compulsory.

Expert witness :

(1) 1s nowhere defined in law.

(2) Legally defined U/S 45 IEA (Indian Evidence Act).

(3) Legally defined U/S 176 Cr PC (Criminal Procedure Code).
(4) Legally defined U/S 320 IPC (Indian Penal Code).

Match the following :

List - 1 List - 1I
(a) Karl Landsteiner (i) Anthropometery
(b) Mullis (ii) Lie detection
(¢) John Larson (iii) ABO blood group system
(d) Bertillon (iv) PCR

Code ;
(@ ®) () (@

® @ @ 6 @
@ O 6 @ @
G) @ @) @) 6
@ @ ) @ ¢

The Principle of exchange was authored by which of the following ?
(1) Hans Gross (2) Sir Francis Galton
(3) Henry Faulds (4) Edmond Locard

In photography, high IS0 numbers are used in which of the following ?
(1) High lighting conditions (2) Low lighting conditions
(3) Average lighting conditions (4) Conditions where flash is used

The “Innocence Project” with the purpose to re-examine post-conviction cases and to provide
conclusive proof of guilt or innocence was first carried out in a university located at :
(1) London (2) New York (3) Amsterdam (4) Delhi

Which of the following explosives was first prepared for medicinal use in 1899 ?
1) RDX (2) PETN (3) ANFO (4) HMX

A T
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ICHEERICIEE
(1) T HE off FrA H wfenfug = foo wan ¥
(2) qrdra e sfufray (a3 w) #it U 45 & I w1 9 ity
(3) ufyer whimen wiea (e E) St 9r 176 & 78 w9 9 qifod
(4) v €T g (STEAE) WU 320 T 36 S 9§ aiafia

frfafEa & gafaa Fife
gt - 1 et - 11
(a) T TSR (i) CUREEE
(b) e (i) g feewm
(c) S A (i) TSN e YU fawn
(d) afée (iv) LI
L T3

(@) (b) () (d)
1) (v) (@) @ (@)
2 @ @ (@) (@)
3) () (i) (iv) @
4) (@) @v) @) @

Frefafaa o @ a9 ' fifous s vagels’ & das €2
(1) ewaE (2) W wifeaw e
(3) & wr=H (4) TUSHE e

HETE H, S oE.wa. sl den frefafea § @ fead winn § o i 22
(1) =0 yabre = Feufaar (2) =% g F fefet
(3) oiraa wehTe i feerfera (4) U Feufaal @& wiw = wam fowan s ®

Sfag 89 & 918 AwEl #Y T S w9 iR St fREfe 2 o e T T S SRwa 4 e
gfsFr” werd uge frfafen § § e frua fvafaeres § doifan &1 o ?
(1) e 2) IR (3) oTEITEH (4) feostt

fratafaa F F fog faepes @ o 1899 U iy suam & fau vael ar S e o o ?
1)  SELTRY, 2) dUEdm, (3) TUAUF.A, (4) TIUHTH,
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In which language “Tswett” has published his work on chromatography for the first time ?
(1) French (2) German (3) Russian (4) Dutch

In which vear Sir Robert Robinson was awarded Noble Prize in Chemistry “for his
investigation on plant products of biological importance, especially the alkaloids” ?

(1) 1946 (2) 1947 (3) 1948 (4) 1949

Qath is administered to a witness before recording his statement. What purpose does it serve?
(1) It puts the wilness under fear of God, so that he speaks the truth.

(2) It is merely a relic of the past which serves no useful purpose today.
(3) It is done mainly to satisfy the lawyer of the opposite party.
(4) It makes a witness liable to perjury if he does not speak truth.

The term "Eddy Ditfusion’ is used in which of the following analytical techniques ?
(1) Microscopy (2) Chromatography
(3) Spectrophotometry (4) Differential Thermal Analysis

Write the correct sequence for the set up of a HPLC system :

(a) Solvent reservoir(b) Recorder (¢) Pump (d) Guard Column
(e) Detector (f) Injector (g) Analytical column

Cude*

(1) @) (B, (©), (g). (d), (b), (e) (2} (), (a) {f), (g), (d). (e}, (b)

(3) ( ) ©). (), (g). (d), (&), (b) @) (@), (), (), @), (g) (e) (b)

Thermal Conductivity Detector in Gas-Chromatography consists of identical
filaments,

(1) Two (2) Four (3) Six (4) Eight

Assertion (A) : Derivatization prior to gas chromatography is often desirable.

Reason (R) : Itimproves the thermal stability of compounds, particularly those containing

polar functional groups.
Code :
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct. (4) Both (A) and (R) are wrong,

Dark current is associated with which of the following ?
(1) Photomultiplier tube (2) Diffraction graling
(3) Atomizer (4) Band pass filter

T Papert
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7. “'Tmge" F fog ywr § veel aR SRR Sadl S i o) g faar o ?
1 F= (2) A (3) &I 4) B9

8. W @ UfeTa =i fopw = ' Sifow wem, favig: TohaTEed % UIRY SR W IS =Ny %
o wrA-foaam % Tae 9EER yeE feem o ?
(1) 1946 (2) 1947 (3) 1948 (4) 1949

9, TR T TAF T HA 9 UE 39 Wy g el ¥ 1 U 9 S0 B S & 2
(1) S99 &R o WIEH i ¥4 fEErn s €, 9 9 |h |t |

(2) 7 hoet Toh AT WO &, T ST I ST S93ed gl e e ¢

(3) UT A TY W T ULFR F Tgehrer 3T Tafe F forg fopan smar &

(4) IS g T T S & A1 3 3 g Il S § |

10. ‘vt fewgsm’ wegrEeh o v frefafen | @ frg favdyonrers g o o s 872
(1)  HIgehIEH! (2)  SRIHEITRI
() SEIwREE (4) Tewiftrm ode Tfafas

11, TR, yoreh T w0 W omd fad
(a) Toomes 1= (b) THTEL (c) d9 (d) TE o™
(e) femzx () IR (g) forveroones: e

@d
(1 @), ) ©. (g (g;,-. (e (2)  (c), (a), (f), (g). (d). (e}, (b)

)
(3) (@) (©. ). (g) (d), (&), (b) @) (@), @) O, @) (g) (e} ()

12, f-wrEmme § e wefwfe  gas | TAE TR ¥ fremie 2n €
1 = (2) =R 3) TE (4) =B

13. AUHeT (A): T FHIUMH ¥ T8 SUoBNA Y: Aig-a 3l T

T (R) : g e, fagtus form Qo) waere I 2@ €, &1 arig ferar § gur o g
% :

(1) (A) G %, oG (R) 7To4 2| 2) (A) R (R) < wd F

(3) (A) oW ¥, W (R) T B @) (A) 3R (R) S e )

14. T Fe Frafafas § 4 Fos @y @9g 372
(1) BRI g4 2) Tewaem 3
EIGLIEST (4) o 9 fise
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15. In FTIR spectrophotometer DTGS detector operates at
(1) Ambient temperature (2) Liguid Nitrogen temperature
(3) Liquid Oxygen temperature (4) Liquid Hydrogen temperature
16, In Neutron Activation Analysis, Crompton scattering results in which of the following ?
(1) Interference with the resulting signal
(2) Increase in peak intensity
(3) Increase in signal to noise ratio
(4) High resolution
17. Inelectrophoresis, with the increase in applied voltage there is also increase in flow of current.
The increase in flow of current results in :
(a) More generation of heat.
(b) Increase in buffer viscosity.
(c) Fast movement of ions.
(d) Works best with thermally instable compounds.
Code :
(1) (a) and (b) are correct.. (2) (b) and (d) are correct.
(3) (a) and (c) are correct. (4) (a), (b) and (c) are correct.
18. Performing electrophoresis on agarose gel where two electric fields are applied alternately at
different angles for a defined time period, such an electrophoretic technique is known as :
(1) Pulsed-field gel electrophoresis
(2) Capillary electrophoresis
(3) Two dimensional gel electrophoresis
(4) Gradient gel electrophoresis
19. Many forensic scientists keep a hand magnifier with them for preliminary examination of
some exhibits, such as tattooing around a gun-shot hole in clothes. In connection with hand
magnifier, which of the following statements is correct ?
(1) The object is within “F of the lens and it forms large virtual image.
(2) The object lies between ‘F* and ‘2F and real image is formed at a distance greater than
2F
(3) The object is at ‘2F and the image is also formed at ‘2F",
(4) The object is beyond “2F" and the image is formed between ‘'F’ and "2F',
Where ‘F’ stands for focal length of the hand magnifier.
1T —
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15. UE.I.E R AR ¥ €S e AIHA R B HE T
(1) i e (2) TE ARLSH YA
(3) TE S A (4) &G TESSA AIAE

16. =2 TEREIEH fawaivor § sred TRefn % SR fr=faiga § 9 a1 "feq g €7
(1) SR e § s
(2) Uik diorn 9 i
(3) To=e 8 = & 31 | 3
(4) 3= ReRREH

17. SHRIPEE 3§ SyTa oo 9ed W HE & auE U o gig 9t ¥ wie ¥ wea § gig 29 W
FfafEa aftom g
(a) TS o AE IS |
(b) TR AT H 9fg )
(c) STFA H FIeH |
(d) o gie A ifer A & Wy wdtay &1 W F = €

e
(1) (a) 3R (b) W&l €1 (2)  (b) 3R (d) =@ F
(3) (a) ¥ (c) T T (4) (a), (b) ¥R (© W F)

18. Wi S W REEIBRIGE F 994, el uidifve gegmely 3 serm-atem o 9 o i @
(1) TSRS~ IS TAFRIEIH
(2) el FERTBE
(3) fo-smanht S seERERTE
(4) Ttz 9@ wErEReY

19. g3 9 AEiary A 92 e 9 e |edi, 9 TR w9l 1 el R 30 9R % STIhu S5, @6
wlieror T 3 fay sea-garedl R €)1 ww-gever ¥ dey ¥ frefated § § S0-w woF e
€7
(1) %G, 99 & T & FH I ¢ AR 399 I AT yfaferst @1 Ftor g 7
(2 a9 'TF R 2uE & o9 fer O ¥ AR 2 uw @ st gl W arfas yfafs

frmton g &1 |
(3) TG 2 UE' ¥ SR # gl w A ¥ o wiufar w Prafor ot 2 we' W 0w e )
(4) =% ‘2uE F gl Afus O W A F i T 9w ‘2w’ % Sty whafars w1 fmbr g
e
wEl T’ T o1 ¥ e el o Wiwd A |
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Polarising microscope has been used to study which of the following ?
(1)  Density of soil particles (2) Texture of soil particles

(3)  Presence of humus in soil (4) Presence of some minerals in soil

Which of the following reagents are used for precipitating DNA ?
(1) Ethanol (2} Methanol (3) Chloroform (4) Phenol

STR DNA analysis can help in determining which of the following ?
(1) Age of an individual (2) Race of an individual
(3)  Sex of an individual (4) Height of an individual

Assertion (A) : In cases of mass disaster involving very high temperature incidents, teeth is
considered most.suitable material for DNA analysis.

Reason (R) :  Cellular material present in the pulp cavity may remain unaffected by the
extreme conditions.

Code :
(1) Both (A) and (R) are incorrect. (2) Both (A) and (R) are correct.
(3) (A) is correct but not (R). (4) (R) is correct but not (A).

Which of the following is correct about the DNA finger print pattern of a child ?
(1) It is exactly similar to the DNA finger print pattern of both the parents.

(2) 50% bands of DNA finger print pattern of the child will be similar to mother and rest
similar to father.

(3) 100% similar to the father’s DNA finger print pattern.
(4) 100% similar to the mother’s DNA finger print pattern.

Which of the following techniques is used in DNA finger printing ?
(1) Northern Blotting (2) Western Blotting
(3) Flow Cytometry (4) Southern Blotting

Which of the following methods is used to locate specific gene in chromosomes ?
(1) In situ hybridization (2) Colony hybridization
(3) Dot blot technique (4) Western Blotting

(T

I 8 Paper-II



www.prepp.in .repp

20.

21,

22,

23.

24.

25.

26.

Your Personal Exams Guide

qrersrei YAl 1 wErT fFretataa 3 § feae steasr & & fau fear st g ?
(1) 91 M H T 2) TS FHW H TG
(3) waI W g Ao (4) Y@ ¥ 3o @i aw B A

frafafaa # & form efid® &1 IR L EA.T, % a8y o fau e s €7
(1) s 2) fgata (3) HPUEH (4) Tl

.31 9R, F.wA.T faven 9 fafafan d 9 feas fato § g e i 22

(1) Tl =afx =t o1 2) o =afa 1 %

() frd =afs =1 fdn (4) Todt =afm #t 39

AFRET (A) :  IoF TIHE ARl HeTel & WY od AeenE § SuA . fovewr & form <l =t
T (R) : stafues fawm gemedl ® ween T # Suftum Wb gl smwfad @ W T
C TR

(1) (A) 3R (R) ST e € (2) (A) ¥R (R) 2 WL F)

(3) (A) & %, T (R) @ 2 (4) (R) W& %, T (A) Terd B

fersht o9 & SLTA.T el B Y & IR frfafag § S R W e 87

(1) g wma faar 9 & €uau el B Y & facsrd aur g

(2) T & SLUAY, HEA B Yo & 50% S WA FHF TR A I far % g\ g
(3) o % o, sieh v e § 100% garFm foe @em)

(4) T F ST e I Y A 100% FEEE forg e

R St 3 H Frafafea § @ fea awds 1 swEm e s E2
(1) i seffe (2) o e
(3) Fr W (4) G sef

HrarEm A fafre sim =57 safrafs =1 @ o & fau frefafee 1 @ feg fafa w1 sedm fea s
2?2

(1) = Tag swivsmene (2) FEF SRfTeEeeH

T = IS (4) A sl
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Which of the following may be categorised as immunogens ?

(a) Hapten S (b) Antigen A (¢) Anti Rh (d) Antigen B
Code :

(1) (a), (c) and (d) are correct. (2) (a), (b) and (c) are correct.

3) (a), (b) and (d) are correct. (4)  (b), (¢) and (d) are correct.

Which of the following test is used to determine the blood group from a blood stain ?
(1) Haemuin crystal test (2) Kastle-Meyer test

(3) Lattes crust method (4) Luminol spray test

The restriction enzymes were discovered by which of the following scientists ?
(1) Watson and Crick (2) Boyer and Cohen

(3) Nathan, Arber and Smith (4) Jacob and Monad

Which of the following can distinguish human salivary amylase and human pancreatic
amylase 7

(1) Starch-iodine assay (2) TPhadebas assay

(3) RINA based assay (4) Use of anti human salivary amylase antibodies

Cyanide derived from antimortem toxic exposure may be lost rapidly with advanced
decomposition of the body. Still in which of the undermentioned organ toxicologically
significant levels of cyanide may be found ?

(1) Heart (2) Kidney (3) Spleen (4) Lungs

N-demethylation of cocaine gives which of the following metabolite ?
(1) Ecgonine methyl ester (2) Benzoyl ecgonine

(3) Cocaethyiene (4) Norcocaine

LRI Paperi
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frafafied # 4 f@d gepriem % w9 A Sified farar s gwar 22

(a) ®HS (b) TR A () T Rh (d) TEEAB
e

(1) (a), () ¥R (d) ¥& ¥ (2)  (a), (b) 3 () WA &)

(3) (@) (b) 3R () T T 4) (b), (o) 3 () & &

fordt =0 & v | o o o T s F fou freafatan § 9 5 e = 5@ e s
2?2

(1) =fE fheed T (2) HEE-HA g
3) wen ww fafy (4) eafere o gle

fifraem gy @ wra Freafafaa § 4 fra dafe g ot &t 2
(1) =" R fFe (2) SRR SR i
(3) e, 2R 3R fery (4) Sd AR HAE

frfafaa §f ¥ =0 AFg aiig TIsed iR ARE SRR THESY W STaR T sl § 2
(1) wrd-srngE e (2) wead adiw
(3) FREAY, ranfia wdieqor (4) WS ST TR URiErs! Ut @ SuEn

T U Ued NS 1 TSR T9EE IR % USRS % WY oSt § faga © W ¥ fe off
frefefeaa A = fam o A fau faam = gfe | wrrme = seore i W o s €72

(1) &3 2) fos (3) wIiE 4) wEs

Fip o T-Tefhegen frefafag 8 9 $F-u1 Seaaw o9 § 7
(1) TSI TRumEeT TR (2) SSmEe WHTA
(3) HIHIZAEE (4) TR
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Match the THC content in cannabis plant parts :

List - I List - II
(a) Pistillate Flower iy 1-2%
(b) Leaves (i) 10-12%
(c) Stalks (iii) 0.1 - 0.3%
(d) Roots (iv) < 0.03%
Code :

(@ ®) () (@
1 @ @ @) @)
) ® @ @) @)
@) @ @ @ @)
4 () @ @ g

Which of the following drugs of abuse is over 100 times as potent as morphine ?
(1) Fentanyl (2) Psilocybin (3) Maescaline (4) Mandrex

Pristane and Phythane are present only in which of the following ?
(1) Gasoline (2) Heavy petroleum distillate
(3) Light petroleum distillate (4) Medium petroleum distillate

Heneicosane is a characteristic component of which of the following ?
(1) Kerosene (2) Diesel (3} Petrol (4) Aviation Fuel

Denarcotized opium is prepared by treating opium with which of the following ?
(1) Petroleum ether (2) Chloroform (3) Benzene (4) Acetone

After smoking of the opium the left out residue is known as
(1) Raw opium (2) Opium Dross
(3) Prepared opium (4) Deodorized opium

Toddy is manufactured from which of the following ?
(1) Rice (2) Palm (3) Wheat (4) Molasses

Pyknometer method is used to estimate which of the following property of alcoholic beverage?
{1} Ethyl alcohol content (2) Total acidity
Volatile acidity (4) Higher alcohol content

LRI Paperi
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sif 3 9 3 el # S wa . @ 1 gAfE IR

gt - 1 gt - 11
(a) TEric 7= i 1-2%
(b) wfaA () 10 - 12%
(c) @) 0.1 - 0.3%
(d) = (v) < 0.03%

(@ () () (d)

(1 @) @ ) Gv)

2 O @@ @Gv) (i)

(3) (i) (i) (@) (iv)

(4) (v) (@) () (i)

frefafas § § FR-91 95 vad Wie | 100 T ¥ o sfers SRReRE B € 2

(1) T=Ad (2) wEAEEEA (3) TEhe (4) TISH
firees 9iR wRdR frafafes o 9 fFod Hing & €2

(1) e ) o Y s

(3) o Ui ST (4) wEm SR ST

TR Taerfafiaa o 9 fege fady ses 27

(1) (2) e (3) Wa @) T e
feTrierse stwm & fafafas 8 O f5a smwim =71 vy o1 S9r e =i 22

(1) 9 IR (2) FAREm (3) S (4) THRER
SR ¥ YU % SUG srafre vere FEd ¢ |

(1) =T TEH (2) T HBMH

(3) IR rHm (4) Frfdfiea sreim

freafefaa o | forad ardt Fare 1 SRt 82

(1) == (2) TE 3 ' (4)
Ueh e ad U ald & Frefafea i o o mE M % fo frennitex ygia o wEm fea s g ?
(1) TUES Tehlga ) HEl (2) T T

(3) ORI ST (4) S UFHISE H AT
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For the extraction of metallic poison from viscera dry ashing method is not recommended for
which of the undermentioned element ?

(1) Copper (2) Mercury (3) Lead (4) Cadmium

Name the colour test in which the reagent is made up of Selenous acid :
(1) Mecke’s test (2) Marqui's Test (3) Van-Urk's Test (4) Chen's Test

Which of the following is correctly matched ?

List - I List - II

(Chemical group) (Examples)
(a) Pyrethroids (i) Endosulfan
(b) Phosphines (ii) Diazinon

(iii) Lenacil

(d) Chlorinated hydrocarbon (iv) Zinc phosphide
(v) Deltamethrin

Code :

@ (b)) (g (@

1 @) @ @

2 (v Gv) @) ()

(3) @ @v (v )

4) @ @ O O

Parathion is metabolised to which of the following ?
(1)  p-nitrophenol and diethyl phosphate

(2) o-nitrophenol and ethyl phosphate

(3) o-nitrophenol and methyl phosphate

(4) m-nitrophenol and dimethyl phosphate

Blackening around gun-shot holes is clothes, means :
(1) Deposit of smoke (2) Deposit of lead vapours
(3) Deposit of black powder (4) Lead ring / Dirt ring around the hole

Assertion (A) : The firing - pin marks found on a fired cartridge case by a hammerless
shotgun are both impressed and striated.

Reason (R) : In a hammerless shotgun, the hammers are hidden from view and move to
cocked position when the breech end of the barrel is moved upward for
re-loading.

In the context of the two statements, which one of the following is correct ?
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are wrong,
(3) (A) is wrong, but (R) is correct.  (4) Both (A) and (R) are correct.

LI
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fagn & 9 usia faw & frpdor & fau feafafeg & @ fra @ & fau o s ugfa =t
o 27 =t 9w § 2
(1) & (2) R (3) W (4) wisirEm

39 {1-leT0 %1 W FaRy, faad s1iyets faeifag sre | a7 g 2r ¥
(1) % Them (2) AR TET (3) -5 WAM  (4) A wEm

freffaa § @ FF-w wé &0 9 gafm 32
g - we - It
(TraTattE W) ( 33TETaT )

(a) TEGUEEH (i) USHERER

(b) FEEH (i) SESFME

(c) SFHIHEHIY (i) STIEA

(d) TR FEGEEEA (v) & wowEs

(v) SRIEIH
@' :

(@ (b () (d)
() () Gv) G) @
2 (v) (v) () (i)
(3) () @v) (v) (@)
4 @@ @ 6O O

Youferam & sgag e S S fra gar g ?
(1) To-TEAEE Y SEsUEd Wk

(2) endi-TEdfET T g Prehe

(3) onei-ERftEve wel frengd e

(4) TR U SRS wERe

FUL | el & I T a5 B& & 9’ SR FHer | A9 ¥

(1) 4 SO (2) EH o ATy FHON I SEA

(3) AT ST FH THA (4) %% AR AR W/ gE W S

ATUFRAT (A) :  UH THLAY WA gRI Tl T HRGHE W HRr-fo % fog 9 s1ifie (3HR)
3R arlier B B

T (R) : Feera v # R fer = 31 ¥ iR s v B ga s o s fe

F TR ISE G Ol TR S TeivE | o S
Sy oAl & Hed W Prefafer A PP mad €2
(1) (A) W& B e (R) 7m0 B (2) (A) 3R (R) i Tor ¥
(3) (A)TTEE B W (R) T ) (4) (A) &R (R) T Wt €1
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Florence test for the detection of seminal stains depends on the formation of :

(1) Choline iodide (2) Hematin

(3) Seminal vesicle specific antigen (4) Creatine phospho kinase

Regarding Gustafson’s method :

(a) It can be used to estimate age in both living and dead.
(b) It can be used to estimate age only in living,

(c) One of the criterias are secondary dentin formation.

(d) Single most reliable criteria is root transparency.

Code :
(1) (a), (b) end (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

Stack’s method is used for :

(1) determination of age from size and weight of teeth.
(2)

(3) Corroborating the age estimated by Gustafson’s method.
@)

determination of sex from size and weight of teeth.

determination of age from long bones.

Qutermost layer of hair is known as :

prepp
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(1) Medulla (2) Cortex (3) Cuticle (4) Pigment layer

Consider the following statements regarding Coir :
(@) Comes from husk of coconut.

(b) Dark brown or opaque.

(¢) Chemical tests for lignin are negative.

(d) Very light and elastic fibre.

Code :

(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (<) and (d) are correct, (4) (a) and (b) are correct,
T £
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i F usd 1 gar & fom geitg wewr fafafag J @ feas fmtor g ik s 82
(1) wieH AEeEs 2) @mfea
(3) e sfewa fafme ddem (4) SRETET IRl G

TeareE fafy o s H

(a) lifea IR 9d 1 1 1 A &= | 3w feen 51 g ¢
(b) O SHTad i A7 S STTAF T H ITAT fRa S O ¥
(c) I TF HIILvS W =4 Ffor 8

(d) T U favea aFeve wg IReH §1

?:
(1) (@), (b) 3w E 2) (a) 3R (o) W ¥
(3) () I (d) wdE @) (a) 3R (b) T ¥

T w1 ot o v frads faa fren i &2
(1) Tl % MER R a7 | g 1 Fwion

(2) <% R 3R ge § fein Frufon

(3) TEEIHEA Y fafy g1 SHEH TR M A W 9eeE ST

(4) < arfeerl | ey = Fawivo

Al 1 ARAH Td i Hed © ¢

(1) wgen (2) FREF (3) wfewe (4) oz wa

Tiae % W § g6ty i afuses w faer st

(a) T AT F o | W T €

(b)  TTEG S ST STAREI |

(c) TemfF = Torafe e TEReEEs 36 ¥ |

(d) ST TR AR T W |

<

(_1) (a), (b) ¥R (c) WA & (2) (a) 3 () ¥ ¥
(c) 3% () =& ¥ 4) () 31 (b) T T
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52. Assertion (A) : Urine stains can be detected by radio immuno assay.

Reason (R) : Urine contains a high molecular weight glycoprotein Tamm - Horsfall Protein
(THP).

In the context of two statements, which one of the following is correct ?
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) {A) is wrong, but (R) is correct. (4) Both (A) and (R) are wrong.

53. Which type of finger print pattern among the following pattern types is found to be the most

common ?
(1) Tented arch (2) Central pocket loop
(3) Twinned Loop (4) Whorl

54, Assertion (A) : Evidence with individual characteristics can lead to the determination of
common origin/single source.

Reason (R) : Sufficient number of individual characteristics common in questioned and
standard writings leads to the opinion of common origin.

Code :
(1) Both {A) and (R) are correct. (2) Both (A) and (R) are incorrect.
(3) (A) is correct, but not the (R). (4) (R) is correct, but not the (A).

55. Z comes home unexpectedly and sees his wife in bed with Y. He becomes enraged and kills Y

with a scissors, which he finds on the table nearby. Which of the following crimes Z has
commited ?

(1) Death by rash and negligent act.

(2) Culpable homicide not amounting to murder.
(3) Culpable homicide amounting to murder.

(4) Voluntary causing of grievous hurt.

56. Cerebrospinal Fluid (CSF) at autopsy may be removed by :
(@) Lumbar Puncture
(b) Withdrawing fluid from cisterna magna
(c) Puncturing the lateral ventricles directly

(d) Passing a plastic catheter in the brain through the nose.

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c¢) and (d) are correct. (4) (a) and (b) are correct.

o |
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AMRAT (A) . T F gedl o YSaAgegAl TH ol gRI qar e S Hehell ¢ |

T (R) : T H I vifaeh MR gl W TH-gwe W (A wad.) g ¥
ST € el % Hed F frmfofaa 4 @ - A wd g2

(1) (A) T 2, afe (R) 1@ T | (2) (A) 3 (R) S W £

(3) (A) T 3, afET (R) w&t T (4)  (A) 3 (R) S w&t T

Yt & Frafafen vl 9 9 BiF-w Sipel =1 Yo gad ifte | &9 3 qrn s g2

(1) fes ek (2) E=a ke om

(3) foream (4) =

AfuFYR (A) . Afda foRmaaedl & WY wWed 99F T/ T Bk 99 B 9 qeaqyl YiEE
forrm wepan 1

T (R) : TS ik e SRa| | S SR favrvet @ T S wHE e 1 9
# weerger spfivent frsafa €1

e ;

(1) 3 (A) 3t (R) =& £ (2) & (A) 3R (R) Te@ €

(3) (A) T ¥ T (R) T4 B 4) (R) @& & Frg (A) e B

ZAFHA AT e A AT Tl Y S Ty xR i 2mm ¥ sg s wiftm @ g 3l Y =i
U € S 9 Sl § AR e g1 Z 3 Freafafea § 9 9w squy faar?

(1) TEERY AR ArEr 4 5|
(2) TR USET UG TR W BN I G F TG S |
(3) TR rea AE e S o w9 H STl § )
(4) TR =R % Sfeew wR

vra-ofen F vy Sfe-wuae o (dooaas,) Frefafea § @ freds gro forn st wam 22
(a) TR e
(b) fawsl fm1 & fe
(c) vz dfcwem =t W19 IR R =R HEN
(d) e % wiku wfiass # wnfes Ha g
@':
(‘1) (a), (b) 3 (c) WEI €| (2) () ¥R (c) T T
(c) 3R () T 2 (4) () 3R (b) T €
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Which of the following chemical treatment results in white appearance of latent finger prints ?
(1) lodine fuming (2) Super glue fuming
(3) Ninhydrin treatment (4) Crystal violet treatment

‘Sear” is a part of which of the following ?
(1) Lock of firearm (2) Barrel of firearm

(3) Stock of firearm (4) Ammunition

The muzzle-velocity of bullet fired from AK-47 Assault rifle is :
(1) Less than 2000 ft/sec.

(2) More than 3000 ft/sec.

(3) Lies between 2500 and 3000 ft/sec.

(4) Lies between 2250 and 2500 ft/sec.

Consider following statements about hanging :

(a) Masochistic hanging is a form of suicidal hanging.
(b) Lynching is a form of accidental hanging,.

(c) Suicidal hanging is the commonest mode of hanging.

(d) Another name for sexual hanging is Kotzwarrism.

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

Consider following statements regarding cause of death in hanging :
(a) Asphyxia is the main cause of death in complete hanging,.
(b) Occlusion of neck blood vessels is the main cause in incomplete hanging,.

(c) Reflex vagal inhibition theory is no more considered a common cause of death in
hanging.

(d) Commonest cause of death in hanging is combined asphyxia and venous congestion.
Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.

(3) (c) and (d) are correct, (4) (a) and (b) are correct.

LIV
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57, Trafatas § 9 fea wmafs v & swEi & gftom wey fag einfe fog wa fear & o

&2

(1) ewite (@) GRS W

(3) frrerfga dete (4) Trew SERR ez
58. ‘‘faewr’’ frefafea o & feam wm #2

(1) IR &1 ot (2) RIS T e

(3) AMEA H REH (4) TIET-SES

59. W, 47 IHEE TEFS U IR T el o FEa-37 997 B 2
(1) 2000 F2/HFTE § HH
(2) 3000 Te/TFvS ¥ aftrs

(3) 2500 X 3000 T/ EHIE & Hrd

(4) 2250 ¥R 2500 F/THUS & wd

60. I o ¥ Hay H Fretfafen weml W fraw SR
(a) Rdifea-FnTes el et (FSifRies ) STt YR i B e &
(b) SETE AR SR AT S e
(c) STEEI TR, it T 1 WA e i R
(d) d-Ef (Segera E) 1 TE0 M FSaReE ¥

R |
1) @) (b) AR () W ¥ Q) () 3 () T@ ¥
(3) (93 (d) T & @) (a) 3% (b) T ¥

61. TR TR T EM =16l 1 % geiy # frefafan womil w faem st

(a) wdie SR § Ta ARy WA 1 S w0 S ¢

(b) I 1 T SEEIS B IR T BT T H FROT Bl B
(c) @ R 3 SAfERRT SARE 1 BT OFF. & A9l § Wid o1 T8 SR G JE S 8
(d) et e 6 feaft 9 g @ el g SR ey iR Rro-dger # Hye w9 i
T
1) (a), (b) ¥R () W&l 1 2) (a) 3R (c) TE T
(3)  (c) ¥ (d) W €1 (4) (a) SR (b) T €
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Drum of a photocopier if damaged may result in which of the following type of characteristics ?

(@) Individual characteristics (b) General characteristics

(c) Transitory characteristics (d) Idiosyncratic characteristics
Code :

(1) (a), (b) and (c) are correct. (2) (a) and {d) are correct,

(3) (a) and (c) are correct. (4) (c) and (d) are correct,

The velocity of bullet of 303 Mark VII cartridge fired from 303-rifle is 2440 ft/sec and the
pitch of rifling is one turn in 10 inches. The rate of spin of the bullet when it leaves the
muzzle is approximately :

(1) 2560 revolutions per second (2) 2930 revolutions per second

(3) 3360 revolubions per second (4) 3930 revolutions per second

Weight of dry skeleton in adult human males is :

(1) 15kg (2) 45 kg (3) 8kg (4) 125 kg

Regarding human pelvis; consider the following statements and choose the correct answer
from the code given below :

Ischial length (mm)

. % 100
Pubic length (mm)

(a) lschiopubic index =

(b) Ischial tuberosity is everted in males

o — Width of Sciatic notch 100
(€)  Sciatic notch index = Depth of Sciatic notch

(d) Chilotic line index is >100 in males

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

ﬁ_|ﬁ
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Hﬁwmﬁ‘iﬁﬁ?ﬂgﬁ wfare 2 & a fefafied § 4 few yor + fadmand sa= 2 gt

(a) =EfwmTa ferdoamd (b) TURY ferdand
(c) sftre fereard () T fadand
@":

(1) (@), (b) R (o) T &1 (2) (@) ¥R (d) =& F
(3) (a) ¥R (c) W& ¥ (4)  (c) 3R (d) T ¥/

303-UEHel Y =R ¢ -303 HIh VI SHIRGE el i o 2440 2 / Yehvg } 3R wgwler fum
1 T A 10 $9 €1 el & Terg@ o freherd THA SHn! w0 1 e fehat gt ?

(1) 2560 0 HfT §6Ts (2) 2930 g W TS
(3) 3360 HUH Hid AHTS (4) 3930 gUF IR THUS

TR AT I6 H YO FER H YR B ©
(1) 15 fwar 2) 4.5 fem (3) 8 fem (4) 12,5 fem

wHa Yl % A § Prafafed weE ® o Ffi o 9 fre e g ¥ @ wéosw g

sfegger wiaE (mm) )
: TeH = s 100
(a) i = — v

(b) e H 3iEad T WRT &Y e gt ¥

foofes A= =+t =g
e — ' 100
(c) Toafes = 3T = - %

(d) TE9 H foeifos or s3940 >100 ¥ 8

e

(1) (), (b) 3R () W €| 2)  (a) 3 () T ¥
(3) (c) ¥R (d) =& E1 4)  (a) 3R (b) T ¥
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A person was found dead in his flat with gun-shot injuries. The room was bolted from inside.
A window was open. The distance of victim from window was about 1 meter. There was
spread of shots aboul 10 inch in diameter. From the body, six LG shots were recovered. The
investigating officer wants to know as to what type of firearin was used. In your opinion,
with which of the following firearms, the firing could have been conducted ?

(1) A 12-bore gun with 30-inch cylindrical barrel.
(2) A 12-bore gun with full choke barrel.

(3) A 12-bore paradox gun.

(4) A country made pistol chambered for firing a shot-gun cartridge.

Among the Carpal bones, which of the following is last to appear radiologically ?
(1) Capitate (2) Hamate (3) Pisiform (4) Triquetral

Which of the following statemenits is true ?

(1) Modified cordite is semi-smokeless powder,

) Modified cordite contains equal amounts of nitrocellulose and nitroglycerine.

(3) The percentage of nitroglycerine in modified cordite is more than that of nitrocellulose.
)

The percentage of nitroglycerine in modified cordite is less than that of nitrocellulose.

A claymore mine is an explosive device, which is :
(1) Throw-down type.

(2)  Itis a curved rectangular box with legs stuck in ground and gives directional shower of
projectiles contained in the explosive material.

(3) It is kept totally under the ground and explodes when a soldier keeps his foot on it.

(4) It is placed in a vehicle etc. and explodes when it is lifted.

Primary centres of ossification in talus appears at :
(1) 1 month of intrauterine life (2) 7 months of intrauterine life

(3) 3 years (4) 7 years

Hyrtl's law states that :

(1) Total length of sternum in males is >149 mm.

(.2) Sternal foramen are twice as common in males as compared to females.
(3)' Sternal index is 46.2 in males.

Body of sternum in males is more than twice the length of manubrium.

I g
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(1) ity () (2) W 3) Tafgws 4) femza
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(1) wifewEs FelEe 18- y3ikied awg 81
(2) TWifewEe HEEE ¥ TRRega™ iR ARiaad Jel A | IR 5 €
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70. o9 H Aferved & wufte < fems < 2
(1) TergefE sied & 1 W8 W (2) TerRf SiEd ¥ 7 9% W
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71. wea & e gy st e ¥ T
(1) gedi F Rfew (wdn) i gt TR >149 mm A 71
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Assertion (A) : While doing photography of a crime scene, physical evidence should be
photographed in closeup view also.

Reason (R) :  Overview and close-up photography of physical evidence is important to
study the crime scene in totality.

Code :
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.
(3) (A) is incorrect, but (R) is correct. (4) (A) is correct, but {R) is not.

Picric acid is -also known-as :
(1) Trinitrophenol (2) Cyclo-tetramethylene tetranilramine

(3) Cyclo-trimethylene trinitramine (4) Trinitrophenyl methyl nitramine

Which of the following techniques are destructive in nature in examination of ink from a
document ?

(1) TLC (Thin Layer Chromatography)
(2) VSC (Video Spectral Comparator)
(3) ALS (Alternate Light Source)

(4) IR microscopy

Identify the correct order in which calcification begins in permanent teeth :
(1) 1%t molar, 2™ molar, 3" molar, Canine

(2
(3
(4

) Canine, 2™ incisor, 279 premolar, 3'4 molar
) 2™ incisor, Canine, 15! incisor, 2" molar
)

ond premulatr,.?"d incisor, 18 incisor, 3'9 molar

Which of the following statements is/are correct with respect to foot-print
examination 7

(a) Latent foot prints may be present on surfaces with fleor, carpet etc.
(b)  Plaster of Peris is the most preferred material to cast the foot impression.
(¢) Race of the person can be determined from foot prints.

(d) Height of the person can be estimated from the foot prints.

Code :
(1) (a), (b) and (d) are correct (2) (a), (b) and (c) are correct
(3) (b) and (c) are correct (4) (), () and (d) are correct

I
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ARERYT (A) : TRt Sy T Y WA R wH wifdes wiedl w1 e sens-ory o H ol
Toran <1 =g |
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(a) W, T TG Al WA W wEE TS g e wed )

(b) W Fag I SR % T e i IRy gey o ver 7
) e @ B =fm =t % = frufoo feam s A €

Q) g fa @ wifm F SS9 &1 SHAE QS 9Ea 2

(1) (2), (b) 3R (d) =& €1 @ (@), (b) 8% () T E
(b) 3 (c) T §1 4) (a), (¢) ¥R (q) = T

B T
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Regarding seminal fluid, consider the following statements and choose the correct answer
from the code given below :

(a) Seminal fluid can be detected by Mab4Fé.
(b) Seminal fluid can be detected by SVSA.
(c) Size of spermatic head is 50 X 35.

(d) Seminal stains cannot be detected if they come from a Vasectomized man.

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

In striated tool marks, the spacings in between the striations change because of :
(1) Angle of tilt.

(2) Angle of progression.

(3)  Both angles of tilt and progression.

(4) Nature of surface on which the tool acts.

Match the following :
List - I List - II
(a) Formation of radial and concentric fractures in (i) Safety glass

glass when a projectile hits it.

(b) Used in side and rear windows of vehicles. (i) Molotov cocktail

(c) When the glass breaks, the fragments tend to (iif) Tempered glass
remain in place.

(d) Breaking of bottle. (iv) Window glass

Code

@ ) © @
) Gv) () @ @
2 (@) @ @) @)
) @) G G)

9 () ) @ )

How many layers must be matched before the forensic expert can conclude that thé paints
come from the same source ?

(1) Eight layers (2) Ten layers (3) Fifteen layers  (4) No criterion

1T Paperi
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(a) TEHTA T9 F TG Mab4EG BRI ST ST T E 1

(b) YER B9 H Ye9H TH.ALTH.T (SVSA) BRI &1 < Wl |

(c) YEIY < MY 1 AR 50% 35 p, Bl 2|

(d) T ¥ ) UEEH T HI W Yt g Afe a8 fedl 09 safim @ 7 fawst Awed) € g

z
W:
(1) (@), (b) R (o) W &1 @) (a) ¥R () TR ¥
(3) (o) AR (d) T T (4) (a) 3R (b) WE B

yTigR ISR foga & o1iEl & o9 it g A agae Fefaiaa § 9 78 SR 9 sTa g2
(1) I R |

(2)  STTHHT T HIUI

(3) FFHME TH TTFHA & <A HI0 |

(4) U YaA Ff FHId 9 W SNSR 1 IE0T g3 E |

qE - 1 21 ||
(a) s fearfy # wie T Yfeaw ol ddfze S w5 o, @) A0 TR
ST S FATH T T R |
(b) i % INE SR Tusel Raefwdi § wge | (i) W Bk
(c) A F 72 W IHFHI THY I TN W &AL ! (i) T FA
(d) e H L (iv) Tae1 &
% :

@ 6 © @
) @ @) @) @
@ @ O @ @
) @) @) @ 0
) O @) @ @)

fafy-famm feivg g0 ' fed fere & foa fp U2 = =ia w & &, forat ol =1 T
ATEIF B ?

1) R W (2) =@ W (3) TEE T (4) R TGS TE

:‘-eﬂzi‘s\U\I]\IWIIIII\I\IIH“II\IIINIH |
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81. Automated Fingerprint Identification System (AFIS) is used for which of the following ?
(1) To determine the age of fingerprints
(2) To track the latent fingerprint evidence
(3) To store and retrieve the fingerprint records with the help of a computer system
(

4) To develop the latent fingerprints with the help of a computer system

82. In criminal cases involving firearms, one comes across wounds caused by a bullet after
ricochet from a surface. In connection with these wounds, which of the following is
correct ?

(1) There are multiple wounds caused by fragments of bullet.
(2) There are multiple wounds caused by particles of target.
(3) The wound may be larger than caliber of bullet, irregular and Key-holing.

(4) There are two wounds because lead core and jacket separate and both cause entrance
wounds.

83. An unrotated bullet fired from a country made firearm soon loses its velocity,

because :
(1)  Its mass changes. (2) Its caliber changes.

(3)  Its ballistic coefficient reduces.  (4) Tts length increases.

84, Assertion (A) : Solvent and microchemical tests have been used to discriminate between
paint layers that are otherwise visually similar.

Reason (R) :  Different paint layers have different chemical composition and will, therefore
react differently with oxidizing, dehydrating and reducing agents.

Code :
(1) Both (A) and (R) are correct. (2) (A) is correct, but (R) is incorrect.

(3) Both (A) and (R) are incorrect,  (4) (A) is incorrect, but (R) is correct.

85. Which of the following instrumental techniques can be used for mapping of elements
across the cross-section of multi-layer paint ?

(1) FTIR spectroscopy (2) HPTLC
AAS (4) SEM-EDS

x-eﬁ;:llII,IIIWII\IIII\IIIIH“I\||IMIN\I Paper
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R ! B BEA YO (CUHE.CH) 3w et § 9 e fa e s 87
(1) el B % oy & fufo & fag

2) YHW ATei V1Y WK HI G T & g

(3) Tt wreer favem &t weram @ st o safyeel #1 yoere $65R oafa & fag
Frge e i TEEa @ Iy« S 319 139 F3

—

)
)

(4

ST A 9 sty wmen § Tt waw ¥ Rt g8 Tieh g gu e u s § w wE %
ey § frefofes 8§ @ SF-mwd £

(1) il & ZHSi g I agd 9§19 |

(2) %9 % 9 g HIia 9gd § = |

(3) M Tieht % wferer ¥ T, At ok =t % STHR &1 & FHa1 § |
(4) o TR R e em En A I g < Ew 9E W W §

foret St amrivarey & wremd T ergfofa ivelt s 3 i @ e ¥, w=@ifE
(1) THH ZAIF URafaa ST ST &1 (2)  $99h1 ShicTeR Uiafad &1 S & |
(3) THHI AT TUR BAASRMC]  (4) THH HE 5 S #

AFAT (A) . TF I o arelt 92 1 Sl W faos @ AeE-Sivea vl @ fasifa
foran s &1

% (R) : i Yo ot Wl =1 T e ot B € ok 3 eedterfe, feamgfin
aw feggfdn wwan @ =1 wr & foran &t )

hd

(1) (A) 3R (R) & W& € (2) (A) T@ g, &l (R) TeE 2|

(3)  (A) 3R (R) =i 7o € (4) (A) =@ g, AfF (R) W& B

frafafiad 4 & SF- Fiftew fofy sg-wde e = sigr we (FE 8RE) | el # 3fin %
form =i o S § 7

(1) THA.E.R, R Q) TERATAE.

(3) TTLEE. (4) THITH-EITE.
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Which of the following pair is correctly matched ?

List - I List - II

(Common name) (Scientific Name)
(a) Jute (i) Hibiscus cannabinus
(b Hemp (i) Agave fourcroydes
(¢) Henequin (i) Saccharum officinarum
(d) Kenaf (iv) Corchorus capsularis

(v) Cannabis sativa

@ (®) () @
) @) (v ) ()
2) (@) @ (v) )
) () () G @)
) () ) ) ()

After brakes are applied, a vehicle produces skid marks on a road. From the length of the
skid mark, speed of the vehicle can be calculated by which of the following formula ?

M) s=(2)pgl @ S=Vmgl @) S=JumglL @ S=2gl
Where “g’ is the gravitational constant,

w= Coefficient of friction of road,

L =Length of skid mark

and S=5peed of vehicle.

Regarding human skull, consider the following statements and choose the correct answer
from the code given below :

(a) Frontal eminences are larger in females.
(b) Occipital protuberance is more prominent in females.
(c) Parietal eminences are larger in females.

(d) Digastric groove is deeper in females.

Code :
(1) (&), (b) and (c) are correct (2) (a) and (c) are correct
(3) () and (d) are correct (4) (a) and (b} are correct

1T

I
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frafafea o 9 =4 w8 gafea g2

gl - 1 it - 11

(anTT ) ( St )
(a) (i) Tefowry Fnfamm
(b) R (i) ST FERRUS
(c) effEr (i) WERH SR
d) T (iv) Y FHANH

(v) F-ntaw He

e

(@ () (o) (d)
(1) @ @ @ G
(2 @ @O G (W
3) @ (v i) ()
4 @) v @@ @
e F A% G R, 9 fere fag gew W ifa w3, s fad @ o @ A 9 ol

Preforfiaa & Q form o1 @ e o STl 32

(1) $=(2)pgt @ S=J2ugl (3 S=2ugl (4 S=2ugl
5 ‘g’ oA frar g,

p =TS & T FT o0 T,

L= fere fage &1 ofam

3R S=amT =i nfa |

e WaE % 9R # frafatag sl W) e Fife ok 3= g g § O ud swogim
(a) ToE * SR Terdl & w91 g &

(b) eTTRI IR ol ® etfuesa W fou g §1

() TvE VR fodi A aer a1

(d) ST e for § el gt ¥

(a), (b) ¥ (o) W&t & (2) (a) 3(c)uR &
(c) 3R (d) WEt & 4) () SR (b) T E

JATRTAR

(1)
(3)
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A firearms expert received two fired cartridge cases to find whether they have been
fired from same firéarm or not. During examination under the comparison microscope,
he found the presence of circles at the base of firing-pin indentations. For positive
opinion, which of the following match is correct ?

(1) Composite match of circles on two cartridge cases.

(2) Side-by-side match of circles on two cartridge cases.

(3) Superimposition match of circles on two cartridge cases.
(4) Match of individual characteristics other than circles.

The condition in which two colours appear similar under one set of conditions but
different under others is known as :

(1) Metamerism (2) Mesmerism (3) Tautomerism (4) Anachronism

The phenomena of bullet shaving is associated with which of the following ?
(1)  Firing of rifles.

)  Firing of some handguns,

)  Firing of test bullets in bullet recovery box filled with cotton.

)

Firing of bullets in water.

Match the following :

List ~ I List - II
(a) Burking (i) Getting crushed in a crowd
(b) Wedging (i) A larger individual accidentally sleeping over
top of a smaller individuals
(c) Traumatic asphyxia (iii) Combined smothering and Traumatic asphyxia
(d) Overlaying (iv) Compression of body within a narrow space

(v) Pushing of handkerchief in the mouth

@@ (b)) (o (&

(1) @@ Gy ) @0

) @) @ @O @
@) @) ) O ai)
4) (v (i)  (iv)

(i
!

N

|
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T AR ToRve 6l <) el gy Eia wRgy e gu € o =g A o # 6 wn we uw |
STRATES BRI T T ¥ A1 711 | JoreAh Yaseel e o SR fasieg A urn fo €M @il =i fm
BRI gU fodl & 99 W gaeR-TE fag an €| varens afima wega A gy feafafea § 9 @R
o fre v ¥ 7

(1) 2 ErE HwRgE W g EgE e |

(2) FHT W FRIE TR FT F GES-aE-aEs e |
(3) S FHRGH F GuEAtee e |

(4) I % eren AfaTa famramedi = faer |

<9 graea <, foe g 1 vk e # ql v S/ femd €, wfe @@ I vee § e e o
arer-atem e W ¥ Fea ¥
(1) HeRIfen 2) HEAfEm (3) rafew (4) BT

T 1 AT i afieea w1 freafatea § 9 e gau 22
(1) TEHEH HT AN

(2) T TS H ERERI
() A W gu I feed e § S e S wEr
(4) et @ o | Wi
92. Freffiaa = Ak AT
gt - 1 gt - 11
(2) AT () i ™ Fom S
b) S () T wS SR W B o T S S
(c) erifess Taftafagen (i) Toreme T S i sifvms vagR
(d) T=BRA (iv) TR TIM R IR I Tred
(v) He ¥ v e
@
(a (B (¢ (@)
(1) @@ G v) o
(2) (@) @) @ @)
B) @) ) (@ (i)
4) (v @@ @ ()
poszs [ UL
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Assertion (A) : Even the monozygotic twins do not have identical fingerprints.
Reason (R) : No two persons have been found having identical fingerprints till date.
Code :

(1) Both (A) and (R) are incorrect. (2) (A) is correct while (R) is not.

(3) Both (A) and (R) are correct. (4) (A) is incorrect while (R) is correct.

A normal handwriting in which letters of the word are connected with each other is
called as :

(1) Graphic writings (2) Cursive writings

(3) Printed writings (4) Ambidextrous writings

Regarding human and animal hair, consider the following statements and choose correct
answer from the code below :

(a) Cortex in human hair is 4 -10 times as broad as medulla.
(b) Medulla in human hair is fragmented.
(c) Medullary index of animal hair in generally more than 0.5.

(d) Medulla in animal hair is absent.

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

Tsunami lung is :
(1)  Death by explosion of lung, as if a tsunami is caused within the body.
(2) Death due to drowning in a tsunami.

(3) Severe systemic infections following aspiration pneumonia caused by near drowning
in a tsunami.

(4) Finding of both lungs separated completely from their bronchial attachments,
seen most often in tsunamis.

TR Papecii
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e (A) : T g gearet & W sfafus anm 9 99 )

T (R) : art ek gu sifatadl amer & safw = fvsr #

&

(1) 2 (A) SR (R) 7o €1 (2) (A) T& T S@fF (R) o T
(3) THI (A) IR (R) T § (4) (A) 7@ § g (R) W& B

HIUNU] FHTere f9ad 7t % 318 Th-g@d € IS BId 8, I 8l S ©
(1) e wEA (2) Hfda @
(3) Hfea o (4) Uffazanzy e

TS Y 3R 7Yl % 9 & 9 ¥ frefatea sl R ER siieg o 9 T T e § 3w
3w g

(a) T HY H FEFE TFA H 4 - 10 o0 SAfYs Higg 2

(b) WA w9 A Agen fowifeg g ¥

(c) YT % ST T AZETT $SH WHIRIG: 0.5 9 i g 2

(d) wYR % e § Agen evqufte g #

@':
(1) (a), (b) 3R (c) W&l €1 () (a) 3 (o) T &1
(3) () 3R (d) WEl €1 4) () 3 (b) W €1

frefoafea & @ H@-91 gAud %HE (Tsunami Lung) €2
(1) FRS F e F FRU g S0 R v ¥ sier gand en w4
(2) FIEH H g S % HRO gE A |
(3)
)

3) AT ORI G ¥ RV g W i F o5 e A v caafier WHh

(4) T H T 9 S veEeel o d Ui we ¥ ST 59 S ¥ |
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Match the following :

List - I List - II
(a)  Animal fibre (i) ravon
(b) Vegetable fibre (i) silk
(c) Mineral fibre (iii) Graphite
(d) Synthetic fibre (iv) asbestos
(v) Jute
Code :

@ ) (o @

1) @ Gv) G @)
2 @ @ v @

Gy (v © @ @)
4 @ (v @ @)

Assertion (A) : Blood for grouping is always collected in a liquid form at postmortem
examination, and sent to forensic labs as such.

Reason (R) : Absorption elution is one of the best methods of determination of blood
groups in the context of the two statements.

Which one of the following is correct 7
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) {(A) is wrong, but (R} is correct. (4) Both (A) and (R) are wrong,.

Simon sign is seen mainly in :
(1)  Forcible rape (2) Oral intercourse
(3) Infanticide (4) Complete hanging

Which of the following characteristic a handwriting examiner need not to consider
while comparing two handwritings to establish the forgery or otherwise :

(1) ratio of height of the letters.

(2) slant of the writing strokes.
(3) choice of the words writen in the text,
(4) Connections between the writing strokes.

-000-

poszss [ AN s



WWWw.prepp.in .repp

98.

99.

100.

Your Personal Exams Guide

Fyfafaa =1 gfeaa wifeg
-1 -1
(a) eIt @ @
(b) =AEfaEtE W () WA
(c) @it (i) TR
(d) SvaR (v) U=
(v) <

[ T

(@ (b) () (d)
1 @ @v G) 3
2 @ w v O
(3) (v @ @) ()
4) (i) (v () (@)
AR (A) : 9 e % GHA T UHE 291 59 & &Y § foraw S g iR 9% ol wu A

=mafafy fom warmmen 9 99 far o )

% (R) : TSI SeIH T TR & (i =it waten usfd R
A1 etfiremer & deol o fpefafed § § sm-m e £2
(1) (A) 5l B, g (R) 7o/ B (2)  (A) 3R (R) T T )
(3) (A)TId &, Wi (R) HE B (4) (A) 3R (R) I T B

27 w9 ¥ Frefafed 3 SRe Sga T S R
(1) T TARPR ) HE-HYA
(3) Tergeem (4) heie S

G A S i wifig B % fore @ ewed w g st gny TR s W i
frafafas § ¥ fog fome W faur =5 F1 snoavasa 98 & 7

(1) &Rl i SR 1 ST |
(2) T T HEHA |

(3) e H fora Ty T W =EA |
@) G BIE F &g gay)
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